DLBCL cell lines

201 | kK% |
s
= 15+ —0
o
3 —
= 10- d®
®©
[$]
S
2 5 .
)
>
(1} PO % ... EkbkE...........
Absent Present
BCL-2 protein
DLBCL cell lines
200 -
*
£ 150-
g —
S 100+
e
&)
o 504 —_
@)
T
O 0d------ PR Y - ORI L ¥ T e
Absent Present

BCL-2 protein

Navitoclax IC50 (uM)

CHOP IC50 (ug/mL)

DLBCL cell lines

1.5
>1 uM >1 uM
1.0 —o6o0e0— [ ]
0.5
]
0.0 T T
Absent Present
BCL-2 protein
DLBCL cell lines
200+
*
150+ -
100+
504 ————
0+ *0e %l
-50 —_—

Absent

Present
MCL-1 protein

IC50 S63845 (LM)

DLBCL cell lines

1.5+
1.0 _e L]
0.5 —_
®
0.04------cenieee ® [ PO
Absent Present

MCL-1 protein



	Supplemental 3

